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An oil drop of radius 2 mm with a density 3 g cm ™2 is held stationary under a constant
electric field 3.55 x 10° V m ! in the Millikan’s oil drop experiment. What is the number of
excess electrons that the oil drop will possess ?

Consider g=9.81 m/s*

Options :

86435114851, 173 100

i 10
86435114852, 173 * 10

re 12
86435114853, 12 10

11
86435114854, T0-8x10

Question Number : 1 Question Id : 8643514951 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fHEtaTs © 38 g€ Y&d 29 3 g om 3 & W3 T 2 mm »9y fonrr © {89 35 &1 9e 3 AfEg
gfam 7 | =y fedags € faat At 3 38 €1 de &t Hadz J=a |

g=9.81 m/s> B2
Options :
o 10
86435114851, 1/ > 10

r 10
86435114852, 173 * 10

e 12
86435114853, 172 %10

11
86435114854, T0-8x10

Question Number : 2 Question Id : 8643514952 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A constant power delivering machine has towed a box, which was initially at rest, along a

horizontal straight line. The distance moved by the box in time ‘t’ is proportional to :

Options :

86435114855, £/2
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{1/2
86435114856.

(2/3
86435114857.

86435114858. v

Question Number : 2 Question Id : 8643514952 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e »as AHTET Tl Sfeedt wits ffa gan & o9< U o Juet J faos ot g sc=t fAdt o 3
Hgn™3 &9 wirg™H wiereT S /W 9 | ‘v AH <9 9an ewiar 3 J131 28t RHaUTst J

Options :

86435114855, £72

(1/2
86435114856.

{2/3
86435114857.

86435114858. :

Question Number : 3 Question Id : 8643514953 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Four identical long solenoids A, B, C and D are connected to each other as shown in the
figure. If the magnetic field at the center of A is 3 T, the field at the center of C would be :

(Assume that the magnetic field is confined with in the volume of respective solenoid).

B
A m
~—T0000° QI

D

Options :
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86435114859, 1 |

86435114860. s

86435114861. B

86435114862. e

Question Number : 3 Question Id : 8643514953 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
feg M Sa HslanTes A, B, C »i3 D fEa org &8 939 <9 feue nigra 33 aetni
I35 | d93 AT ded TS UII 3T J, 37 C T dwd 3 ¥3d I297 : (V&5 B2 off I9at 439 HufI3
mEtEnfes € wifegs S /tfiz 7))
B

Options :

86435114859, 1 |

86435114860. st

86435114861. s

86435114862. e

Question Number : 4 Question Id : 8643514954 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The P-V diagram of a diatomic ideal gas system going under C}-'clic process as shown in

figure. The work done during an adiabatic process CD is (use y=1.4):

A D
200N/m2f[--——----- <
N
|
T00M/me | e e 5 Vg,

B A

| | |

| | |

P | o

| | |

| | |

| I

| | |

| | |

| | |

| | |

| I

| | 1

1 3 4

—> V(m)
Options :

400 |
86435114863

86435114864, V0]

86435114865, 200 ]

0]
86435114866.

Question Number : 4 Question Id : 8643514954 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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W23 YFaH I35 ¥ SUaH==l »niead 3 © P-V aaar f933 fEg foufonr famr 31 Afggst
YagH CD =97% fazm e J (y=1.4 293 ) :

A D
e 1 <
W \
|
100 N/m2f----——-- > L NC
B! (I
| | |
| | |
P : |
| | |
| | |
| Lo
| | |
| | |
| | |
| | |
| I
| | |
1 3 4
—>» V(m?)
Options :
400 ]
86435114863.
86435114864. 500 ]

86435114865, 200 ]

86435114866.

Question Number : 5 Question Id : 8643514955 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The position, velocity and acceleration of a particle moving with a constant acceleration can

be represented b"i, :

Options :
86435114867.
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86435114868.
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Question Number : 5 Question Id : 8643514955 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

f8a »as Y291 5% I8¢ 8a g 2t Afgdl, 91 w2 Y97 E9AT 97 Ade J5

Options :
86435114867.
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a (t)

86435114868.

2 (1) |
<« - ™ el

—> t — t — >t

86435114869.

—> t S —>» t
86435114870.
g;,@' ﬂ:-@I

—> t —> i —>

Question Number : 6 Question Id : 8643514956 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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An AC source rated 220 V, 50 Hz is connected to a resistor. The time taken by the current to
change from its maximum to the rms value is :
Options :

86435114871, =2 ™S

86435114872, = ™S

86435114873, U-22 mS

86435114874, 2 S

Question Number : 6 Question Id : 8643514956 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
220 V, 50 Hz 33 (3fdar) = 83 AC 3 ¥ yf33ua 5% gffw™ J | ade ewgT foret G93H 3
W3 WH WH (rms) H'S 3 S28™ SE 8 HHT J
Options :
86435114871, > ™S

86435114872, = ™S

86435114873, U-22 mS

86435114874, 2 S

Question Number : 7 Question Id : 8643514957 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In Young's double slit arrangement, slits are separated by a gap of 0.5 mm, and the screen is

placed at a distance of 0.5 m from them. The distance between the first and the third hright

fringe formed when the slits are illuminated by a monochromatic light of 5890 Ais :
Options :

i 12
86435114875, 1178 X107 " m

86435114876, 2890 <10~ " m

9/91
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- ke
86435114877, 1178 107" m

1178 10 ® m
86435114878.

Question Number : 7 Question Id : 8643514957 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o & Tadt fedt i 9, fodhr § 05 mm  wizgs 57 9T A5t I, W3 yger fegst 3
0.5 m & gat 3 st T | ufast »3 StAdt 9HaeTs efod 29 gdt J, #< fash & g feagan
5890 A €1 Yarw gwiaT YatH3 fa3r J

Options :

7 12
86435114875, 1178 X107 “m

86435114876, 2890 <10~ " m

- 9
86435114877, 1178 <107 " m

1178 10 ® m
86435114878.

Question Number : 8 Question Id : 8643514958 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A particle is travelling 4 times as fast as an electron. Assuming the ratio of de-Broglie
wavelength of a particle to that of electron is 2 : 1, the mass of the particle is :
Options :

86435114879, O times the mass of e

1
— times the mass of e
86435114880. 16

86435114881, 16 imes the mass of e

— times the mass of e

86435114882, O
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Question Number : 8 Question Id : 8643514958 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fod g fia fo8de™a &8 4 91" 34 Wed 99 fgar I | Has B2 ot g 3 feBaers &t 5t-ugmargt 3da1
SHE T AU 2:1 I IS YA J

Options :
e ( :E'E:EQEJ' E'I:I-T-"ETB dle
86435114879.
. e 1
| 'E'EEQ‘E‘S} eUd & 16 Jr&
86435114880.
e~ (fe8aes) T UA = 16 3"
8643511488]1. ) 8 2
. a1
e~ | 'E‘EE‘.QEE‘S} 2 Ud & 3 dr&
86435114882.

Question Number : 9 Question Id : 8643514959 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The time period of a simple pendulum is given by T = 2.7,—\]1. The measured value of the
&

length of pendulum is 10 cm known to a 1 mm accuracy. The time for 200 oscillations of the

pendulum is found to be 100 second using a clock of 1 s resolution. The percentage accuracy
in the determination of ‘g’ using this pendulum is “x". The value of ‘X’ to the nearest integer
15,

Options :

2%
86435114883.

3%
86435114884.

4%
86435114885.

=
86435114886. s
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Question Number : 9 Question Id : 8643514959 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e ATS WT2a3] 3B o Mg a8 T = E-WJI fE3r T 1 1 mm < AT 3 35 St g9 & WS
&

10 cm fHE™ fam™ T 1 1 s fd3s © f¥a Feg-wst 293 9 200 38 = 8 (AHT) 100 AfT3
3T fazr I | fon 38 € 293 935 g & YfEIHs @UsT ' 3t 9t J | T WS 538 YIS nid

ECh
Options :

2%
86435114883.

3%
86435114884.

4%
86435114885.

5%
86435114886.

Question Number : 10 Question Id : 8643514960 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Imagine that the electron in a hydrogen atom is replaced by a muon (). The mass of muon
particle is 207 times that of an electron and charge is equal to the charge of an electron. The
ionization potential of this hydrogen atom will be :

Options :

86435114887, 120 ¢V

86435114888, 2/-2 €V

86435114889, o122 eV

86435114890, 25122 eV

Question Number : 10 Question Id : 8643514960 Question Type : MCQ Option Shuffling : Yes Is
12/91
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

FBUET 99 a1 fog Telagas e &9 ffa fedaes & ffa wis (1) &% s2fonm 31 WS
(muon) €7 Y7 g fe8a2Ts € Ua €7 207 31" T »3 9794 ¥ fedags e ugwg J | fon ofedas
UIH'E T WTEGEEHS (WTElSlaas) YoHs J2ar :

Options :

36435114887, 10 &V

86435114888, 27-2 eV

86435114889, 012 eV

86435114890, 25122 eV

Question Number : 11 Question Id : 8643514961 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A radioactive sample ::lisintegrates via two im:lepem:lent ::leca}-' processes havi_ng half lives

O _ | . g
12 and 1 respectively. The effective half-life, T}é of the nuclei is
Options :
(1) +(2)
TI,-' TI,-'
Ty, = —2 A2
1/ 1/
86435114891. /2 /2
Ty = Tr‘-I,.]I I T{E_]I
/2 L 1
86435114892. /2 /2
(1) (2)
TI_,-'E' I TT.*'E
BT ) o)
1/ 1/
86435114893, 2 U2
MNone of the above

86435114894.
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Question Number : 11 Question Id : 8643514961 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o e . E .
fea I516 uaHt ayET € HE-f5099 »RWEE YIFdaHT ©™d" U »idd »y Tlg w3 Tlﬁ CLEY

Ifemi nrufes Jev T | 194 (dedla) & YF=as! »idg »g .Tlé J:

Options :
(1) 1 (2)
TI,-' Tl,-’
T, = —2—-2
i TI{_I»’} | Tlfz}
86435114891. /2 /2
Ty = T + T2
86435114892, 2 /2
O
e i A2
WS L ey
1, T 1
86435114893. o E
a3 &g agt &1
86435114894,

Question Number : 12 Question Id : 8643514962 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A loop of flexible wire of irregular shape carrying current is placed in an external magnetic
field. Identify the effect of the field on the wire.

Options :

86435114895, shape of the loop remains unchanged

26435114806, 100P assumes circular shape with its plane normal to the field

26435114397 loop assumes circular shape with its plane parallel to the field

86435114898 wire gets stretched to become straig,ht

14/91
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Question Number : 12 Question Id : 8643514962 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Joe U TH! "arEteT »ifgst € fed s9aeTa 379 & 9381 § o grodt gudt U39 f&g aftmr 3|

g9 ¥ 439 & yIe § ufgure .
Options :

338t T nirfgdt fasr-gesm gaar |
86435114895, ~ o W3] THE-HT8™

SIS 21 wirfg =t & foAd 38 € 8§39 2 »ifgey Sag7a'a »ifg=t 9 Ha |
86435114896, - T -

I35 T w3t & foAe 38 € 439 © AHZT 999799 w3t 9 Ha |
86435114897, - r -

319 fATt 9= &9 fug Y3 9ot |
86435114898. ~

Question Number : 13 Question Id : 8643514963 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the experiment of Ohm’s law, a potential difference of 5.0 V is applied across the end of a
conductor of length 10.0 cm and diameter of 5.00 mm. The measured current in the conductor
is 200 A. The maximum permissible percentage error in the resistivity of the conductor is :

Options :

86435114899, -9

86435114900. 7.3

86435114901, 54

86435114902. 3.0

Question Number : 13 Question Id : 8643514963 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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§IH (Ohm) < ATz Y&far fZ9, 10.0 cm B9 %3 5.00 mm fewmr € g 97@d © fAfanm 3 50V
o f¥q yoHs »iZas garfon fam 7 | 9789 29 a9 2.00 A st famr 31 9789 <1

yf3suasT f&g dar 8793+ yfsws 33t I :

Options :

86435114899, -9

86435114900, /-2

86435114901. 8.4

86435114902. 3.0

Question Number : 14 Question Id : 8643514964 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The time period of a satellite in a circular orbit of radius R is T. The period of another satellite
in a circular orbit of radius 9R is :
Options :

86435114903, ° ¢

86435114904.

86435114905, 27 T

12T
86435114906.

Question Number : 14 Question Id : 8643514964 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e Qua[fg = R »iayu faw € Ja97ad da f&9 »@g3 a8 T J | ©Hd Gud[fd &7 9R »idgg

fonm € Sagag 999 g 9% 7 ;
Options :

86435114903, ° ¢

16/91
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86435114904.

86435114905, 27 T

121
86435114906.

Question Number : 15 Question Id : 8643514965 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In a series LCR resonance circuit, if we change the resistance only, from a lower to higher

value :
Options :
86435114907. The resonance frequency will increase

6435114908, The bandwidth of resonance circuit will increase

86435114909, 1he quality factor will increase

The quality factor and the resonance frequency will remain constant
86435114910.

Question Number : 15 Question Id : 8643514965 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fea LCR B3H0 »ig='e Agae (99, 79 »iHT 328 Yf3du J58 I §7uas H's 39 928 T7 :

Options :

}..: T ¥H rt = I'dﬁ
86435114907, 12T MSIIT U H=A |

86435114908, OO HIHC <1 83 293 (I39) 2u =4t |

TS UF 20 T |

-

86435114909.

86435114910, 2 B °UE i Wga™e mId3! wigs Jiasartn |

17/91
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Question Number : 16 Question Id : 8643514966 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Your friend is having eye sight problem. She is not able to see clearly a distant uniform
window mesh and it appears to her as non-uniform and distorted. The doctor diagnosed the
problem as :

Options :

86435114911 M}-'opia and h}-’permefrnpia

86435114912, Fresbyopia with Astigmatism

86435114913, /Stigmatism

86435114914, Myopia with Astigmatism

Question Number : 16 Question Id : 8643514966 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
3773 39 & &30 fardt mifim J 1 §9 g9 feana fusdt 3 e Hudr 2y 9 »inHae J Y3 fog
gné & It e w3 fearfawr St feuet Y313 Jov 9 | Ivaeg AHfmT = fegm™ gaer 7

Options :

HEe T (33 &t 599) w3 TfougHagfimT
86435114911.

86435114912, ORI EPHILMT (Presbyopia) »HICIHICHH &5

86435114913, HICITHICTH

wHfeaTHIEaH 532 21 399 &% HEGUtwT
86435114914,

Question Number : 17 Question Id : 8643514967 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What will be the average value of energy along one degree of freedom for an ideal gas in

thermal equilibrium at a temperature T ? (k; is Boltzmann constant)
Options :

18/91
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kE
86435114915,

86435114916.

86435114917.

2
86435114918.

Question Number : 17 Question Id : 8643514967 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

&g nivean W el T 3IUHS 3 IV A3l (99 Gaar = »iAs H's fea f3aret »ie edtay (A3
det) Bet ot IR ? ( FBTHHS Higd wid ky I )

Options :

k
86435114915.

86435114916.

86435114917.

P
86435114918.

Question Number : 18 Question Id : 8643514968 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

19/91
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Match List - I with List - IL

(a)
(b)
(c)
(d)

List - 1
10 km height over earth’s surface
70 km height over earth’s surface
180 km height over earth’s surface
270 km height over earth’s surface

Options :

86435114919.

86435114920.

(@)-(iv), (b)-(itd), (c)-(ii), (d)-(1)

(a)-(ii), (b)-(ii), (c)-(1), (d)-(iv)

86435114921, @), (B)-(1), (e)-(iv), (d)-(iii)

86435114922 @), (b)-(iv), (c)-(iii), (d)-(ii)

Question Number : 18 Question Id : 8643514968 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

H@ST - 1 5 A5t - 1 378 fHeg

(d)

A3t - 1
ga3t €1 A3fg 2 10 km G978t 63
uadt ¥t W3y 3 70 km S9et €3
uadt ¥t W3y F 180 km S5t €3
Ug=t €1 A=fg 2 270 km S99 53

Options :

86435114919.

(@)-(iv), (b)-(iii), (c)-(ii), (d)-(i)

(a)-(ii), (b)-(ii), (c)-(1), (d)-(iv)

86435114920.

86435114921, @), (B)-(0), (c)-(iv), (d)-(iii)

86435114922 @), (b)-(iv), (c)-(ii), (d)-(ii)

List - 11
(i)  Thermosphere
(ii) Mesosphere
(iif) Stratosphere
(iv) Troposphere

GAGEII | |
(i) gIHAEHT
(i) HHEAESHE (T H3\)
(iii) AILEHIMT (I HIB)
(iv) SURET
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Question Number : 19 Question Id : 8643514969 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A plane electromagnetic wave of frequency 100 MHz is travelling in vacuum along the

—_— e FaY
x-direction. At a particular point in space and time, B = 2.0 x 10 5k T (where, k is unit

vector along z-direction) What is E at this point ?
(speed of light c=3x10° m/s)

Options :

06 j V/m
86435114923,

86435114924, -0 1 V/m

6.0 k V/m
86435114925,

86435114926, 00 K V/m

Question Number : 19 Question Id : 8643514969 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

100 MHz »233t €t f& feasst fams guat 3991 ¥l wes 29 x forr 25 98<t I 1 wiaH w3
it g Ry g 3 B = 20x 1078 k T (R k 2 fourt 39 fearet wfem 9) 3 fom fig 3
E ot 37

(ya & 93t ¢=3x108 m/s)
Options :

06 j V/m
86435114923.

86435114924, 00 1 V/m

60 k V/m
86435114925,

21/91
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86435114926, 00 K V/m

Question Number : 20 Question Id : 8643514970 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A thin circular ring of mass M and radius r is rotating about its axis with an angular speed w.

Two pa_rticles havf_ng mass m each are now attached at diametriq:all}-' opposite points. The

angular speed of the ring will become :

Options :
[\
by ——
M+ m
86435114927.
M
= M+ 2m
86435114928, =
M —2m
=
M 4+ Z2m
86435114929.
M+ 2m
oy ———
86435114930, M

Question Number : 20 Question Id : 8643514970 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

M U »f3 r %3y faniA € ffg U38T 99979 88" WniS] U ov™ I8 a8t w &8 WHET J 1 IS

m Y7 T € g G5 g9 fon 3 fauar 34 75 | 28 &1 831 (angular) 313t I

Options :
[\l
by ——
M+ m
86435114927.
[\l
& M+ Zm
86435114928, =
M —2m
“ M 4+ 2m
86435114929. -

22/91
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M + 2m
[\l

(1

86435114930.

Physics Section B

Section Id : 864351332
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351332
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 8643514971 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

An npn transistor operates as a common emitter amplifir_-r with a power gain of 10 The

input circuit resistance is 100 {2 and the output load resistance is 10 k(). The common emitter

current gain ‘B’ willbe

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

. (Round off to the Nearest Integer)

Question Number : 21 Question Id : 8643514971 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

ffa npn 23fares ATST §3Aad WHEREME (amplifier) € 237 106 1 W3t 915 3 ITENT
AT J | Waae T feayue Yf3dw 100 Q »2 »rgeye 83 38T 10kQ J | A'8T §3IFTHS J92 915

F) I:-,J.w N -

__ J=ar | (&38 yIs wd 39 3 SERUIC))

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :
100

Question Number : 22 Question Id : 8643514972 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A ball of mass 10 kg moving with a velocity .mﬁ m/s along the x-axis, hits another ball of

mass 20 kg which is at rest. After the collision, first ball comes to rest while the second ball
disintegrates into two equal pieces. One piece starts moving along y-axis with a speed of

10 m/s. The second piece starts moving at an angle of 30° with respect to the x-axis.
The velocity of the ball moving at 30° with x-axis is x m/s.
The configuration of pieces after collision is shown in the figure below.

The value of x to the nearest integer is

Y-aX1s 1 Piece 1

v11=10m/s
\K}' X - axis
w2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643514972 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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10 kg U7 1 87 e 103 m/s &1 291 5% x U1 28 IS Tt vigH wizmer f2g &1 20 kg UH
&t THdT e § 290 H'ael J | 2998 © g™, UTIR! e »a™H »iRAE™ &9 »9el J #<dl gHat
die € zafawr f&9 fadfaz T 7€ 9| 89 23 y udl 38-3% 10 m/s & 3= 38 98 Hg
I | THT ZIF x T S B-FHB 30° T AT I BT HI Fa=T J | x TS &8 30° € I I TH

-

e T T xm/s J | TITGS 3 InE TS ©1 Haua' J6 939 &9 fauet I | x &7 Hs 638

ygs wid 34, o ff

yaxisy zggr
vy=10m/s

» Y-axis

aoe

2]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 23 Question Id : 8643514973 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The voltage across the 10 {} resistor in the given circuit is x volt.

50
— VWY My——
100 20 0

y
1Y ¢

The value of “x" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 23 Question Id : 8643514973 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

fe3 I1F Aade f29 10 O © yf33ua © fAfanT 3 T527 x volt T |

50 ()
—\WW AMN——1
10 Q) 20 0)

L AWW—

170V '

‘2’ T HS &I YIS wid I J

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643514974 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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B

10m
porizon?
':-'Iﬂf iaﬂe

Y

As shown in the figure, a particle of mass 10 kg is placed at a point A. When the particle is
slightly displaced to its right, it starts moving and reaches the point B. The speed of the
particle at B is x m/s.

(Take g=10 m/s?)

The value of ‘" to the nearest integer is

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 24 Question Id : 8643514974 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A

F

10 m

%

fas H3g feg fewfenr 3, 10kg Ao e acfBa iz A3 Shmr I | A dcd AR AR EB &7
HaafenT aer J 3T g g8 Ag dee w3 ME B3I Ud9e J | =SB 3 a=t am/s J |

Y

(g=10 m/s? B2)
‘¥ T HS 538 YIs wid 34, JI

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 25 Question Id : 8643514975 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A particle pc-rfcrrms simplc- harmonic motion with a pc-rind of 2 second. The time taken b}-‘

the particle to cover a displacement equal to half of its amplitude from the mean position is
b

— 8.
da

The value of “a’ to the nearest integer is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643514975 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

o g 2 Hfd3 © »T2d3 &8 HIS »2d3 38 Jao J | FS ©aT feHe wid™ & i 9aed 34
=1 fergus Ho AfgSt 3 In 935 B fenr famm AT — s I 1 ‘a’ ©7 WS 838 Yds wid 34,

_ai

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643514976 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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C=3puF 5 M1}
| | AMAANAAN ——
|

q=30 pC

\

The circuit shown in the figure consists of a charged capacitor of capacity 3 uF and a charge
of 30 pC. At time t=0, when the key is closed, the value of current flowing through the
5 M) resistor is ‘x" pA.

The value of ‘2" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643514976 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

C=3 pF 5 MO
| |
| | AAA'A"A

q=230 pC

\

fazg fog foue Agge &9 3 uF & ogd3 »iE 30 pC = 994 Ju=r o gga Ifimr famr T |
t=0"H 3 #< gl He J1=1 J, I 5MQ T Yf35uad RS BuR doe  HE ‘XY pAJ | ¥ © H'S
&5T8 Y3& wid 34, J I

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 27 Question Id : 8643514977 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A person is swimming with a speed of 10 m/s at an angle of 120° with the flow and reaches
to a point directly opposite on the other side of the river. The speed of the flow is “x" m/s.

The value of ‘2" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643514977 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

o fon@3t 10 m/s &1 15t 3 TT™ 578 120° € < 3 9o JIfow &<t J gAY faae 2 fasas

Gue fig 3 ud9e Jd | =™ & 9131 2’ m/s J1 ‘2’ T H'S YTs wid 39, J

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643514978 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two separate wires A and B are stretched by 2 mm and 4 mm respectively, when they are
subjected to a force of 2 N. Assume that both the wires are made up of same material and

the radius of wire B is 4 times that of the radius of wire A. The length of the wires A and B

a
are in the ratioof a : b. Then — can be expressed as — where x is
x

b

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Question Number : 28 Question Id : 8643514978 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2 2udte’ I A w2 B & IHTE 2 mm »3 4 mm 39 fifgwr 3| 72 Gas §3 fig g8 2N
TATET™ T | He B2 €6 397 fod Uo9g 3 9™ I8 »iZ B I3 ¥ wigyg w379 A € »igg

. . bl gt . . S e 1 -
fenA e 4 I 39 A w3 B fouf S @ wigUS a:b J | L gL AW d TIHTENT

=

famr 3 IFxTHS T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643514979 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A parallel plate capacitor has plate area 100 m? and plate separation of 10 m. The space
between the plates is filled up to a thickness 5 m with a material of dielectric constant of 10.

The resultant capacitance of the system is ‘x" pF.
The value of £;=8.85x10 2 Fm !
The value of “x" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643514979 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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e AHT3E uB2 g 100 m? 43988 w3 G055 {99 10 m 23t & useT 3 gfewr J | Ut
fegaratat utEt 87 10 Seifesdicd (Fuge! faas) 38 5 m &1 Al 39 3at aret 7 | feegmar =
yfgenit oaa3T ‘v pF 7 |
gg © HE =885x10"12F. m™?
‘X T H'E &35 Y35 nid 34, J |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643514980 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A bullet of mass 0.1 kg is fired on a wooden block to pierce through it, but it stops after
moving a distance of 50 cm into it. If the velocity of bullet before hitting the wood is

10m/ s and it slows down with uniform deceleration, then the magnitude of effective retarding,
force on the bullet is “x" N.

The value of “x” to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643514980 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

0.1 kg U= =1 ffg 38! Sa3 © feg gan fZ9 93 (g€ g9 =el) o aet 9| 3 feg fer &9
50 cm = €61 I dad gd At J | Hag dE@l 2 a3t 2da Hgs 3 Ufas 10 my/s I w3 fog g
HHT3T »a1 578 TTHT 3 33t I 37 I8t 3 yg=wst Yf3adt s8 S H=Za v NJ | v’ & H'S 638
Y3 nid 34, J |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Chemistry Section A
Section Id : 864351333
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351333
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8643514981 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a binary compound, atoms of element A form a hcp structure and those of element M
occupy 2/3 of the tetrahedral voids of the hep structure. The formula of the binary compound
15 :

Options :

86435114941, M2A3

86435114942. :

86435114943, MA3

86435114944, MgA

Question Number : 31 Question Id : 8643514981 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fea onorfas Giga e, 33 AT uaHan & 921 U Ades sag o J w3 fap fRe 33 M & aat
Uds Agge ©1 2/3 Sewat fegt ueet U fen € niofas Gioa = gaysT J
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Options :
M,A

86435114941, 2 3

M,A,
86435114942, 47

86435114943, MA3

86435114944, MgA

Question Number : 32 Question Id : 8643514982 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A certain orbital has no angular nodes and two radial nodes. The orbital is :

Options :

]
wn

86435114945.
2p
86435114946.

86435114947.

3p
86435114948.

Question Number : 32 Question Id : 8643514982 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fea fonfes wragfes dgt aat WS (angular nodes) »= € 5@ WSt (radial nodes) 75 |
nirgEles J
Options :
86435114945, <

2p
86435114946.

86435114947.

3p
86435114948.

34/91



3/18/2021

Question Number : 33 Question Id : 8643514983 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - 1 with List - 11 :

List - 1 List - 11
(Process) (Catalyst)
(a) Deacon’s process (i) ZSM-5
(b) Contact process (i) CuCl,
(c) Cracking of hydrocarbons (iif) Particles ‘NT

(d) Hydrogenation of vegetable oils  (iv) V5,05

Choose the most appropriate answer from the options given below :
Options :

06435114949, @-(), B)-(iii), (0)-(ii), (d)-(iv)

86435114950, @H(I), (B)-(iD), (c)}-(1), (d)-(iii)
26435114951, (@) (i), (b)-(1), (c)-(iv), (d)-(ii)

86435114952, @@ (D)-iv), ()-(), (d)-(ii)

Question Number : 33 Question Id : 8643514983 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
gat - 1 »3 gaft - 1l & fums a9
et - 1 - 11
(fedt/fafonm) GEOCEY)
(a) stais et fedt (i) ZSM-5
(b) aweae = fet (i) CuCl,
() vFiZageEst T geay3agt (i) Ni'Ta
(d) =sAUST 3& T oEigdees (iv) V505
75 fou fecmut © AES da=t 839 5=
Options :
86435114949 (@)-(1), (b)-(iii), (c)-(ii), (d)-(iv)
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86435114950, @), (B)-(id), (€)-(1), (d)-(1i)
86435114951, (@-(ii), (D)-(i), (0)-(iv), (d)-(ii)

8643511495, @y @), (b)-(v), (€)}-(), (d)-(i)

Question Number : 34 Question Id : 8643514984 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The ionic radius of Na* ion is 1.02 A. The ionic radii (in :i] of I"»-‘Ig2 Fand AP T, respectively,
are :

Options :

86435114953, U-85 and 0.9

86435114954, 072 and 0.54

| __)
86435114955, 0-68 and 0.72

86435114956, 1-09 and 0.99

Question Number : 34 Question Id : 8643514984 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Na* = mfaa wigg form 1.02 A. Mg?* w3 AP+ T nimifaa nigu formm a9 05
Options :

86435114953, 085 713 0.99

0.72 w3 0.54
86435114954,

0.68 w3 0.72
86435114955.

86435114956, 102 = 0.99

Question Number : 35 Question Id : 8643514985 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

The chemical that is added to reduce the tm-lti_ng point of the reaction mixture during the
extraction of aluminium is :

Options :
86435114957, Bauxite

86435114958, aolite

86435114959, Calamine

86435114960, —TYOlite

Question Number : 35 Question Id : 8643514985 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WEHiEY (Al) &t fsggs fedt So= mitaos fiRes © fiue € To7r weBs &=t fagzr 9pfes
=9I JeT T

Options :

86435114957. '

86435114958.

=, =,

86435114959.

86435114960. &

Question Number : 36 Question Id : 8643514986 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two Statements : One is labelled as Assertion A and the other is labelled as

Reason R :

Assertion A :  During the boiling of water having temporary hardness, Mg(HCO,), is
converted to MgCO,.

Reason R : The solubility product of Mg(OH), is greater than that of MgCO,.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

36435114961, Poth A and R are true and R is the correct explanation of A

86435114962, Poth A and R are true but R is NOT the correct explanation of A
86435114963, \ is true but R is false

86435114964, A 1s false but R is true

Question Number : 36 Question Id : 8643514986 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

JoT T 936 o3 75| JEs A 51 itz @88 U niS o 9796 996 R T

feg aus A: 50 uEt § Bawe 29 Mg(HCO;), 588 o MgCO, g&Ter J|
95 q8s R:  Mg(OH), & wseHEsT gnees MgCO, 3% =0 e J|
Bug o3 aaat = & 35 Js 23 feamyf <9 p=3 Sa=f B39 92 ¢

Options :

26435114961, =0 A RFdt 35 m3 R, A & 7t fonrfemr I

2643511496, =0 A RAdN T5 4T R, A & At fonrfemr &t 3

86435114963, A FT T UT R 3853 I

AT®S JUTR AT T
86435114964.

Question Number : 37 Question Id : 8643514987 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List - 1 with List - 11 :

List - 1 List - 11
(a) Ca(OCl), (i) Antacid
1 2
(b) CaSO, - EHED (i) Cement
(c) CaO (iii) Bleach
(d) CaCO, (iv) Plaster of Paris

Choose the most appropriate answer from the options given below :
Options :
36435114965, @), (0)-(iv), (c)-(iii), (d)-(ii)

86435114966, @)(1H), (b)-(ii), (¢)-(i), (d)-(iv)
86435114967, (@)-(ii), (B)-(id), (©)-(iv), (d)-(1)

86435114968, @)-(ii1), (b)-(iv), (c)-(ii), (d)-(i)

Question Number : 37 Question Id : 8643514987 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

get- 1»3 gt - 11 &% fim= a9

get - 1 geor - I
(a) Ca(OCl), (i) 7 YStood
(b) CaSOj, - %I—IZD (ii) wiHe
(c) CalO (iii) =wt
(d) CaCO, (iv) USHed nie Ufgn
Options :

26435114965, (@), (B)-(iv), (c)-(idi), (d)~(ii)

86435114966, (@)-(ii), (b)-(ii), (©)-(1), (d)-(v)
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86435114967, (@) (i), (b)-(i1), (c)~(iv), (d)-(i)

86435114968, (@)-(ii1), (b)-(iv), (c)-(ii), (d)-(i)

Question Number : 38 Question Id : 8643514988 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The number of ionisable hydrogens present in the product obtained from a reaction of
phosphorus trichloride and phosphonic acid is :

Options :

(==

86435114969.

-2

86435114970.

=

86435114971.

86435114972,

Question Number : 38 Question Id : 8643514988 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
SHeOA CTEIJBES ¥ THS(IA 37 &% fafon 396 3 saz @@ Bun 199 faat faest wnst a9s
=% JEIZHG HOT 96 ¢

Options :

==

86435114969.

I3

86435114970.

]

86435114971.

86435114972,

Question Number : 39 Question Id : 8643514989 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List - I with List - 11 :

List - 1 List - 11
(a) Chlorophyll (i Ruthenium
(b) Vitamin - B, (ii) Platinum
(c)  Anticancer drug (iii) Cobalt
(d) Grubbs catalyst (iv) Magnesium

Choose the most appropriate answer from the options given below :
Options :
26435114973, @-(i1), (b)-(ii), (c)-(iv), (d)-(i)

26435114974, (@) (W), (b)-(iti), (c)-(i1), (d)-(i)
26435114975, (@)1 (1¥), (b)-(i), (c)-(iii), (d)-(1)

86435114976. (a)-(v), (b)-(iii), (c)-(1), (d)-(ii)

Question Number : 39 Question Id : 8643514989 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
got-1ns gat-11 = fis a9 .

-1 get - 11
(a) =fEm () e
(b) feerfvs- B, (i) UesetaimH
(c) oAd T USloua ===t (i) o=@®e
(d) d9" T B3y (iv) HIBTHMH

Options :
26435114973, @) (i), (b)-(ii), (c)-(iv), (d)-(1)

26435114974, @)F(W), (b)-(i), (c)-(ii), (d)-(1)
26435114975, @) (1¥), (b)-(ii), (c)-(iii), (d)-(i)

86435114976. (a)-(iv), (b)-(iit), (c)-(i), (d)-(ii)
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Question Number : 40 Question Id : 8643514990 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The correct structures of trans-[NiBr,(PTh,), | and meridonial-[Co(NH,),(NO,),], respectively,

are .
Options :
NO, .
Ph.P B O,N 2 NH
’ \ / : = 9
and Co
Pth/ \Br GEN/[‘LH\\NH3
86435114977. 3
Phq,P\ /Er H;N TDZ NO,
\ rd
/ \\Pph3 ON/ | NH,
NH,
86435114978,
NO, ..
Ph,P B 3 NO,
N !
/ \PPh s 3N/ IJJH\NUz
86435114979. 3
NH
Ph.P B O,N 3 NH
L eV
Ni y Co
Ph 1‘/ \Br i DEN/ILH\ NG,
86435114980. 3

Question Number : 40 Question Id : 8643514990 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fe /ot : [NiBry(PPhy),] »3 T MEa-[Co(NH,)3(NO,),] T HET At Aega'e J6 :
Options :
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e Co
Ph p/ \Br DZN/ | \NI I,
86435114977 i
. NO
Ph,P B tiaN ? NO,
S A Nl A
Nl W= CD
|3r/ Nprn DEN/ I.L”\‘NHs
86435114978.
92 NO
Phjp\ /BI \ | 2
/ \PPh 113[\;/ | H\NDE
86435114979. ?
NH
Ph,P B 3 NH
N s \I / :
86435114980. 3

Question Number : 41 Question Id : 8643514991 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The statements that are TRUE :

(A) methane leads to both global warming and photochemical smog
(B) methane is generated from paddy fields

(C) methane is a stronger global warming gas than CO,

(D) methane is a part of reducing smog,

Choose the most appropriate answer from the options given below :
Options :
86435114981, (A) and (B) only
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2643511498, (&) (B), (C) only

86435114983, (B) (©), (D) only

86435114984, (A (B), (D) only

Question Number : 41 Question Id : 8643514991 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fe3 aust feg faadtm At T6 -

(A) HIEs ud@t F9Ht w3 UaTHT BHGT ©F 3796 J |

(B) HiEa& 3F U% © §3T 3 UeT get J|

(C) HiEs Haiwt aeHt 9 et CO, 5% U Ia=<d J|
(D) iEs swarga AHar = fJAf T

J5 feu feasut fog ras dae=f €39 92

Options :

32 (A) %3 (B)
86435114981

86435114982.

s6a3s1140g3, Toe @) (©) (D)

86435114984, 798 (A). (B), (D)

Question Number : 42 Question Id : 8643514992 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Compound with molecular formula C;H,O can show :
Options :

86435114985 Positional isomerism
86435114986, Functional group isomerism

86435114987. Metamerism
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86435114988. Both pf}sitinnal isomerism and metamerism

Question Number : 42 Question Id : 8643514992 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

wida famer mzdt gays CH O Tarer J ¢
Options :
86435114985. i

86435114986. =

86435114987, H HHMAE

& FE'S »iE HU AYwaET
86435114988.

Question Number : 43 Question Id : 8643514993 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - 1 with List - 11 :
List - 1 List - 11
(Chemicals) (Use/Preparation/ Constituent)
(a) Alcoholic potassium hydroxide (i) electrodes in batteries
(b) Pd/BaSO, (if) obtained by addition reaction
(c) BHC (Benzene hexachloride) (
(

(d) Polyacetylene

iii) wused for -elimination reaction
iv) Lindlar’s Catalyst

Choose the most appropriate match :

Options :

86435114989 {ﬂ}'{ll], {b]-{ljf {C]-{IV]F {d]-{lll]

86435114990, (@)-(iid), (b)-(1), (€)-(iv), (d)-(ii)
86435114991, (@)-(i1), (b)-(iv), (c)-(1), (d)-(iii)
26435114992 (@) (i), (b)-(iv), (c)-(ii), (d)-(i)
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Question Number : 43 Question Id : 8643514993 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
gt - I n3 gt - 1l &% e &9

gat- 1 got - 1l
(yStaana) (mvg [garg= Bt [fIR)
(a) wBALBa Uiy TTegnranedts (i) Fedht oo fonet o@a ©f 237
(b) Pd/BaSO, (ii) FIFSHE YStlafomr emrar fHser J
(c) BHC (z3#ia JoAaBIEs) (iii) p-feduz yStfafoer st =gfanwm w7 9
(d) =T5d MACBIE (iv) T@sma T G3yaa
a3 ga=t €39 5=
Options :

86435114989, @), (b)-(1), (¢)-(tv), (d)-(iii)
86435114990, @) (iid), (b)~(1), (c)-(iv), (d)-(ii)
86435114991, (@)-(11), (b)-(iv), (c)-(1), (d)-(iii)

26435114992 (@)-(1ii), (b)-(iv), (c)-(i1), (d)-(i)

Question Number : 44 Question Id : 8643514994 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Reaction of Grignard reagent, C,H:MgBr with C;HgO followed by hydrolysis gives compound

“A” which reacts instantly with Lucas reagent to give compound B, C;,H;;CL

The Compound B is :
Options :
Cl

CH,

86435114993.
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H

3

86435114994.

Cl CH,

CHs

pe

86435114995.

CH;

CH,

S

86435114996.

Question Number : 44 Question Id : 8643514994 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
aifgarsTas = mifggara C,HMgBr,CgH O &% fafon a9 tiaa “ A” 58w I 7 81 An 3 fBam
v yStgana &'s Giea B, C,y Hy, Clfeer 31 Gfe@ B T :

Options :

Cl

CH,

b

86435114993.
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CHg

86435114994
Cl CH;
CH,
86435114995.
CH,
Cl
CHs,
86435114996.

Question Number : 45 Question Id : 8643514995 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

C=N
COOH
H-O H,O
L ] Fr ‘l'.\ n ]
H* H*, A
(Major Product)
Consider the above chemical reaction and identify product “A" :
Options :
CH,NH,
86435114997.
CONH,
86435114998.

48/91



3/18/2021

|
C=N-OH
86435114999,
CH,NO,
86435115000.

Question Number : 45 Question Id : 8643514995 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

C=N
COOH
H,0 " H,0
Ly r
Ht } H+, A ;
(Ha Gus)

Eug =% miags fog Bur “A Tt ufoo=z a9

Options :
CH,NH,
86435114997.
CONH,
86435114998.
H
C=N-0H

86435114999.
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CH,NO,

86435115000.

Question Number : 46 Question Id : 8643514996 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

H;
Alkaline KMnO,
} J.I'x.‘l'
e
OCH;
Considering the above chemical reaction, identify the product “X" :
Options :
CH,OH
X &
86435115001. OCH;
COOH
.
OCH,
86435115002.
CHO
.
86435115003. S
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CH;

OH
86435115004.

Question Number : 46 Question Id : 8643514996 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

"H,

Alkaline I<.:‘~,’Inl[:l;L

. > “X

Eug =% Aiiags =g Bur “X & ufoo= a9

Options :
CH,OH
x i
YCH
86435115001. OCH,
COOH
X -
86435115002. OCH;
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CHO

.
OCH,4
86435115003 :
CH,
X -
OH
86435115004,

Question Number : 47 Question Id : 8643514997 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

H.C CH
3 \\N"/ 3

H;

NaNO,, HCl
}-_ ;:Kﬂ' }__ lf.l'Yh'

273 K-278K (Major Product) (Major Product)

Considering the above reaction, X and Y respectively are :

Options :
E“CI‘ N4 -
. ~CH
and Q/ N~ 3

CH,

86435115005.

Cl Nap
a_nd[ j N
i) 51 \\CH.*;
86435115006. CHs
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N; Cl™ XC”3
d A
an O/ CH,
86435115007.
Cl KCHH
and O/ \CH
3

86435115008.

Question Number : 47 Question Id : 8643514997 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

H.C CH
3 \N/ )

Hy

NaNO,, HCl

[ FrEwE

Y

» J'IYH‘
273K — 278 K (R &) (R B

Bug fi£3 mileas’ R gHeg, X3 Y 36

Options :

+ oy —

7 Cl W SN

mr[::jf N~ CHs
CH;
86435115005. :
Cl NQN
CE [::: ::1 N
@ S \CH,
CH,

86435115006.
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i £
> h%”_<i:>_ﬂx
e
CH,
86435115007.

Cl CH,
N o
"{\N M
S O/ C N
CH,

86435115008.

Question Number : 48 Question Id : 8643514998 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List - 1 with List - 11 :

List - 1 List - 11
(Class of Drug) (Example)
(a) Antacid (i Novestrol
(b)  Artificial Sweetener (ii) Cimetidine
(c) Antifertility (iii) Valium
(d) Tranquilizers (iv) Alitame

Choose the most appropriate match :
Options :
86435115009, (@) (@) (B)-(), (€)-(itd), (d)(1)

86435115010, @ (1), (b)-(iv), (c)-(1), (d)-(iii)
86435115011, @) (B)-(1), (c)-(i), (d)-(ii)

86435115012, @), (b)~(iii), (c)-(1), (d)-(ii)

Question Number : 48 Question Id : 8643514998 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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got - 1 »= got - 1l = fios &g ¢
get-1 get - 11

et @ AF geross
(a) I7E uFAeua/ U Afs (i) AeReas
(b) =m=ct flem (i) HHEEa
() yShvas (iii) <wfewH
(d) AT T (iv) wSeH
A3 dast B39 T2
Options :

86435115000, @), (b)-(iv), (c)-(ii), (d)-(i)
26435115010, @) (1), (b)-(iv), (c)-(1), (d)-(iii)
86435115011, @), (B)(1), (c)-(id), (d)-(iii)

86435115012, (@)F(), (b)-(iii), (c)-(i), (d)-(ii)

Question Number : 49 Question Id : 8643514999 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A non-reducing sugar “A” hydrolyses to give two reducing mono saccharides. Sugar A is :

Options :
86435115013, Glucose

86435115014, Fructose
86435115015, Galactose

86435115016, Ducrose

Question Number : 49 Question Id : 8643514999 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
e 39 mwalss gaw “A” T 7% muwes (Hydrolysis) 3% T #Wal9s HoHJOES oo 96 a9
AT:
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Options :

86435115013, <

86435115014.

86435115015.

86435115016. -

Question Number : 50 Question Id : 8643515000 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Reagent, 1-naphthylamine and sulphanilic acid in acetic acid is used for the detection of :
Options :

86435115017, "VO2

86435115018. st

86435115019, NO

¢l

86435115020. -

Question Number : 50 Question Id : 8643515000 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

migaaHd 1-aUE=I% miHls »E AnSTeanied 39y, wHfed 339 ¢ &9 u o 95 T 529 m==
(Detection) &=t Faf=3mm e T :

Options :
86435115017, V2

86435115018. e

86435115019, NO

2

86435115020.
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Chemistry Section B
Section Id : 864351334
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351334
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643515001 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Complete combustion of 3 g of ethane gives x x 102 molecules of water. The value of x is

. (Round off to the Nearest Integer).

[Use : N, =6.023 x 10%%; Atomic masses inu : C:12.0; 0 :16.0; H: 1.0]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 8643515001 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

33T B85 § Udl S e awmax10R2ust T ng e dixoys _ J1 (B39 &8
YTs i 3 o),

[593 : N, =6.023 x10%; ugHz<t 39 u f<8 96 : C:12.0;0:16.0;; H: 1.0]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Question Number : 52 Question Id : 8643515002 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AX is a covalent diatomic molecule where A and X are second row elements of periodic
table. Based on Molecular orbital theory, the bond order of AX is 2.5. The total number of
electronsin AXis . (Round off to the Nearest Integer).

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643515002 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AX fea Afarmet € uana=l wiz J1 fAg A w3 X »293t A9al ¥ ot BE16 (row) © 33 36| miEs!
nirafies furs  ysfier AX € dus &9 25 3 for o fedaes S aw fassdt 91

(837 338 yds nix 3 )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643515003 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For the reaction
CHg — GH, +H,
_ k] mol 1. (Round off to the Nearest Integer).
[Given : Bond enthalpies in k] mol 1. C—C:347, C=C:611;
C-H:414, H-H : 436]

the reaction r_-nﬂ'ualp}-' _‘tTH=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Question Number : 53 Question Id : 8643515003 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AHTgas
GH, — CH, +H,
met ySHafonr wmgedt A H= k] mol~ L, (857 33% yds »ix 3 5e)
[E57: dus §e kf mol 1 89 : C-C : 347, C=C: 611;
C—-H:414, H —H : 436]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 54 Question Id : 8643515004 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
2 molal solution of a weak acid HA has a freezing point of 3.885°C. The degree of dissociation
ofthisacidis = x10-3 (Round off to the Nearest Integer).

[Given : Molal depression constant of water =1.85 K kg mol ~!

Freezing point of pure water =0°C]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643515004 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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2 HE®®3T % aHdd 379 HA © uiw fager € =oar 3.885°C 71 fem 379 fewuqs wim
x107331 (37 338 uds »id 3 &y)
[fe37: ual & He® n=ans AfEg wig=1.85 K kg mol !
BT Ut T aHE goa=0°C]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 55 Question Id : 8643515005 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In order to prepare a buffer solution of pH 5.74, sodium acetate is added to acetic acid. If the
concentration of acetic acid in the buffer is 1.0 M, the concentration of sodium acetate in the

buffer is M. (Round off to the Nearest Integer).
[Given : pKa (acetic acid)=4.74]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643515005 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

fed pH 5.74, T% "ed W& & g&8= BT ASH wirlee 29 wirtfea 3ama wfenr AieT 91 § ge9 feg
niFtied 3 B AWEST 1.0 HBa3T J 3 RS wirtee ©F AwesT fer aeT fee M TI
(E37 338 y9s nid 3 o).

[f€37 : pKa (wAtfex 37mE) =4.74]

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 56 Question Id : 8643515006 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For the reaction
2Fe3* (aq) + 21 (aq) — 2Fe?* (aq) + L,(s)

the magnitude of the standard molar free energy change,

_‘n.T{_i:” =~ k] (Round off to the Nearest Integer).
E°pe2t pe) = — 0440 VS Epar g g= — 0036V
B, /- = 0339V F = 96500 C

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643515006 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Avtaas
2Fe>* (aq) + 21~ (aq) — 2Fe?* (aq) + I5(s)
UNTas H®a Hes Bod sE&= ©f Hsa

[+

AG,=—-__ k] (8397338 uds nig 3 fou).
EJFE“,-"FE{E} = 0440V : EJFE‘HII_'E{H}: 0.036V
E°/y - =0539V;  F=96500C

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643515007 Question Type : SA
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Correct Marks : 4 Wrong Marks : 0

2 NO(g) +Cl,(g) = 2 NOCI(s)

This reaction was studied at — 10°C and the fﬂllowf_ng data was obtained

run [NOJ, [CL ], I,
1 0.10 0.10 0.18
2 0.10 0.20 0.35
3 0.20 0.20 1.40

[NO], and [Cl,], are the initial concentrations and r is the initial reaction rate.

The overall order of the reaction is . (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
Question Number : 57 Question Id : 8643515007 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2 NO(g) + Cly(g) = 2 NOCK(s)
" AHIEEs & — 10 °C miftrz i3 famr i I5 st nieat unus &3t famr

run [NOJ, [CL ], Iy

1 0.10 0.10 0.18

2 0.10 0.20 0.35

3 0.20 0.20 1.40

[NOJ, »3 [CL,], BF € AuW=s™ »i3 1, B ©F ySiiafonmes saAgel J
3t fen miaes © o® ot J1 (839 338 yas nid 3 fau)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643515008 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The total number of unpaired electrons present in the complex K;[Cr(oxalate),] is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643515008 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AfIAtAS K;[Cr(oxalate);] <8 o& wiz g2 #f feas fedaes o faest Jl

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643515009 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

_ grams of 3-Hydroxy propanal (MW =74) must be dehydrated to produce 7.8 g
of acrolein (MW =56) (C;H,O) if the percentage yield is 64. (Round off to the Nearest
Integer).

[Given : Atomic masses : C: 12.0 u, H: 1.0 u, O : 16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643515009 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

_____ I 3-TEBIHEH LB (MW="74) & foar@iaas 3 7.8 aTH Aiaa@is (MW =56)
(C;H,0) Uer Iet I 7 yItAS Ueed 64 J1 (B39 338 uds nid 3 fom).
(A7 d :ywa Ud : C:12.0u, H: 1.0 u, O : 16.0 u]
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 60 Question Id : 8643515010 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A reaction of (.1 mole of Benzylamine with bromomethane gave 23 g of Benzyl trimethyl
ammonium bromide. The number of moles of bromomethane consumed in this reaction are

nx10" 1 when n= (Round off to the Nearest Integer).

|Given : Atomic masses : C:120u, H:1.0 u, N : 14.0 u, Br : 0.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643515010 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

0.1 T5TE® niHls @ TOHHIES &% YSTalonT d92 3 23 g SorEi® TEHIEE® MHoMH SOHES
feer U1 fen ySifafor R nx 101 1i® goiles vug o€ 96 I n=__ JI (B39 a3%

Y9 wid 3 f5H),
e d: =R U9 : C: 120 u, H: 1.0 u, N : 14.0 u, Br : 80.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Mathematics Section A
Section Id : 864351335
Section Number : 5
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Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351335
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 8643515011 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If the functions are defined as f(x)= Jx and g2(x) = +1 — x, then what is the common

domain of the following functions : f+g, f—g f/g. g/f. g—f where

(f = Q) = f(x) = g), (f/g)w) = L2
g(x)

Options :
86435115031, 0 =x <1

86435115032, 0 <x <1

86435115033, 0 =¥ =1

86435115034, 0 <x =1

Question Number : 61 Question Id : 8643515011 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

79T @85 f(x) = Va3 gx)=I—x b, 32 f+g f-g f/3 g/f g—f = WS Y3 T fiy

(f + g)@) = f(x) = 3@), (f/8)(x) = % .
Options :

86435115031, 0 =x <1

86435115032, 0 <x <1
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86435115033, 0 =¥ =1

86435115034, 0 <x =1

Question Number : 62 Question Id : 8643515012 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the equation a|z*> + &z + az + d = 0 represents a circle where a, d are real constants,

then which of the [ ollowing condition is correct 7

Options :

i e
86435115035, |@/~—ad = 0and ae R
86435115036, 12/’ ~ad >0and a e R—{0}

]

86435115037, (@~ —ad=0

g :
86435115038, @=0-a deR

Question Number : 62 Question Id : 8643515012 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

d93 AHIEaE alz? + Gz + az + d =0 99 a3 Taw@er J, 1F a, d TH3fea »E8 T8, 3¢

J% fefimr &5 fagdt Ieg Rt T 2

Options :

2~ad = 0»3 aeR
86435115035, | Jae

2—ad >0 w3 - ,
86435115036, 1@ —ad >0 ™3 ae R—{0]

2 I —
86435115037, (@~ — ad=0

Pl ,
86435115038, @~V a, deR

Question Number : 63 Question Id : 8643515013 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

1 2 0 2 I 5
Let A+2B=| 6 -3 3|and 2A-B=|2 -1 6|. If Tr(A) denotes the sum of all
. 3 1 0 i 2

diagonal elements of the matrix A, then Tr(A) — Tr(B) has value equal to :
Options :
86435115039, 1

86435115040.
86435115041, 2

86435115042, U

Question Number : 63 Question Id : 8643515013 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

I3 I3

Had Tr(A) HicaH A € feags ¢

[ I = A |

1 2
HE B8 A+2B=| 6 -3 3| »J 2A-B =
5 3

II T AZ TIAE I F€ Tr(A)-Tr(B) T HS T ;
Options :
86435115039, 1

86435115040, 2
86435115041,

86435115042, U

Question Number : 64 Question Id : 8643515014 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Let o, 3, v be the real roots of the equation, r+axr2+bx+c=0, (a, bbce Rand a,b=0). If

the system of equations (in u, v, w) given by au+prv+yw=0; put+yr+aw=0;
.az

v + av + pw =0 has non-trivial solution, then the value of o is :

Options :

86435115043. 0

86435115044, 1

86435115045,

86435115046, O

Question Number : 64 Question Id : 8643515014 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
HE 88 o, B, y AEaE ¥ +ax2+bx+c=0 % TH3EE HBE T3, (a, b,ce R»I az0) | #Ha7
HHIETE" (1, v, w T29) T =8 au + Bo +yw=0; Bu+yo+aw=0; yu +av+Bw=0 I3 I 32

= - az o =
J8 «J, 3¢ 1— YT H& J
i)

-

Options :

86435115043. 0

86435115044, 1

86435115045. 3

86435115046, O

Question Number : 65 Question Id : 8643515015 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The sum of all the 4-digit distinct numbers that can be formed with the digits 1, 2, 2 and 3
is :

Options :

86435115047, 22264

68/91



3/18/2021

86435115048, 20664

86435115049, 122234

86435115050, 122664

Question Number : 65 Question Id : 8643515015 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
wid 1,2, 2 %3 3 T YGdl ddd SITei aifen 4 wigr et aah f95-ds Aftmie ev a3 T
Options :

rJ
rJ
%]
o
by

86435115047.

86435115048, 26664

86435115049, ===~

86435115050, 122664

Question Number : 66 Question Id : 8643515016 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let (1+x+22x?)0=a,+a;x+ax?+....+a,x0. Then, a;+a; +ac +... ba,- is equal to :

Options :
219{22{] | 21]

86435115051.

X} 20 | »
86435115052, 2 (27 121)

21‘3{22{] 21]
86435115053.

23]{22{] 21]
86435115054.

Question Number : 66 Question Id : 8643515016 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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HE 8@ (1+x 112_]3”=a{] Fapx azﬁ st a4{].x4{] 3 a; +ag+ag+t....+az; HIHEJ J
Options :
219{22{] | 21]
86435115051.
jE]{jZ{] | ':}l]
86435115052. = = =
zlﬁ{zzﬂ 21]
86435115053.
EHHEZU 21]
86435115054.

Question Number : 67 Question Id : 8643515017 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

) 1
The value of 3 4 1 is equal to :
4 4
1
3 4 -
4 4
A4+ ... .
Options :
|
86435115055, 12+ V3
_—
86435115056, 2 T V3
3+2.3

86435115057. °

86435115058, 4+ V3

Question Number : 67 Question Id : 8643515017 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3 ET-HEFHE*aﬁ

Options :

70/91



3/18/2021

86435115055.
i

86435115056.

86435115057. ~

86435115058, 4+ V3

Question Number : 68 Question Id : 8643515018 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 1 1 1 ;
I I i ol I —,,1 is equal to :

- 3 >

3* -1 5" -1 7
Options :

86435115059, 101

101
86435115060, *U8
99
86435115061, U
101

86435115062, 104

Question Number : 68 Question Id : 8643515018 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 1 1 1 :
I I B oinies F————— HOMEd J

3= -1 5§ -1 F*-=1 (201)% -1

Options :

86435115059, 101

86435115060, *U8
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99

86435115061, 100

101
86435115062, 104

Question Number : 69 Question Id : 8643515019 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If o, p are natural numbers such that 100%—1993 =(100)(100) + (99)(101) + (98)(102) 4
..... t(1)(199), then the slope of the line passing through (o, 3) and origin is :
Options :

86435115063, 210

86435115064, 230
86435115065, 940

86435115066, 290

Question Number : 69 Question Id : 8643515019 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
999 o, p Yfgfza Afmret g5, st FE 100« - 1998 = (100)(100) + (99)(101) + (98)(102)

..... FH1)(199) Fe q0 A (e, ) w3 HE RS SwstaStess . J1
Options :

86435115063, 210
86435115064, 23U
86435115065, 240

86435115066, 22U

Question Number : 70 Question Id : 8643515020 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1
1
| — lxl =1
If f(x)=11% is differentiable at every point of the domain, then the values of
|

aleb;xfil

a and b are respectively :

Options :
3 3
86435115067, > 2
1 i
86435115068, 2 2
5 3
86435115069, 2 2
| 3
86435115070, 2 2

Question Number : 70 Question Id : 8643515020 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
| [l
) vy FI-"-'fl.--,-- — — " ’
Had f(x) = 1% Y3 T I HT I BIAI T3 FSTHTES I3 a3 bT HS
taxz Fb: |x|<1

THIG o :
Options :
i1
86435115067, > >
13
86435115068, 2 2

5
2|'

[ ]

86435115069.
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1 3
86435115070, 2 2

Question Number : 71 Question Id : 8643515021 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

cosec Ix

The real valued function f(x) = —=—=, where [x] denotes the greatest integer less than or

VX — |x]

equal to x, is defined for all x belonging to :

Options :

86435115071, all reals except integers

86435115072, All reals except the interval [ 1, 1]
86435115073. all non-integers except the interval [ 1, 1]
86435115074 all integers except 0, —1, 1

Question Number : 71 Question Id : 8643515021 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= ) ) ) o . ) -
TS WS TET 8BS f(x) = % fifd [x] wifga= Wyas wid x 3 we 7 fone g9wa 3
X X

Tong e I 895 A9 x BEt ygFTHI I 7 fa HEU 9uw T3 :
Options :
At FA3fed, Uas »id & &3

ap

86435115071.

Tatnit e R3feg, niza= 2 = g
86435115072. it THIEE, W38 [~ 1,1] § &3

3 319 UIE nid. M e
86435115073, 10 919 Uas #d, #ITE [~1,1] 5 &8 4

86435115074, TR e LR, =8, 1 g BE G

Question Number : 72 Question Id : 8643515022 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

P | -1
. limsn  x—tan x . _
If {”_}3} 3 is equal to L, then the value of (6L +1) is :

3x

Options :

o | =

86435115075.

=}

86435115076.

-2

86435115077.

b | =

86435115078.

Question Number : 72 Question Id : 8643515022 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1y —tan %

g Ym 2T . TS LY, T (6L+1) THB T -

x—

3x

Options :

o | =

86435115075.

=}

86435115076.

-2

86435115077.

b | =

86435115078.

Question Number : 73 Question Id : 8643515023 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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T)cosy(2x —1)* +5
Vax? —4x + 6

2x
The integral I( dx is equal to :

(where ¢ is a constant of integration)

Options :

i
;sin\/(h’ I 1)2 o o
86435115079. <

1
—51'_11\[{21' 1]2 ol
86435115080.

1
—cns«.,jf{2x 1]2 o o
86435115081, 2

i
—cnstr{Ex I 1]2 F5 + ¢
86435115082.

Question Number : 73 Question Id : 8643515023 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1)cos\(2x —1)% +5
Jax? —4x +6

féa?ﬂmjizx dx 99T T :

(fdE ¢ fosagns = was J)
Options :

.
;sin\/(h’ I 1)2 o o
86435115079. <

1
—sm\[{Ex 1]2 i
86435115080.

1
—cns«.,'I[{2x 1]2 S+
86435115081, 2

|
—cnstr{Ex I 1]2 F5 + ¢
86435115082, 2

76/91



3/18/2021

Question Number : 74 Question Id : 8643515024 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The differential equation satisfied by the system of parabolas > =4a(x + a) is :

Options :
2
1 dy Ih[d—yw y=0
86435115083,  .dx L dx )
{—" r2x( L) -y o
86435115084 \ax) \dx )
dy 2 du
L{—ﬂ ZI[—yl hy =
dx dx
86435115085, 9%/ dx
[—“” l‘ffd—ﬂ y =0
"\‘--]-1 t.d.I/'

86435115086.

Question Number : 74 Question Id : 8643515024 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ugrafan €1 ya&t y2=4a(x +a) 3 A3He Jet I, fEedfmms mitees 7 :

Options :
2
L‘{M ' h[d—ﬂ y=0
86435115083, X L dx )
y[d—” 'Zl[d—ﬂ y=0
86435115084, 9/ Ldx )
dy 2 oy
y —ﬂ 2x _y| Fy =0
dx dx
86435115085, 99X/ dx )
L'ly 2 dy
— 2'{_ =0
y[dx] l\_dx] .

86435115086.

Question Number : 75 Question Id : 8643515025 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

Choose the correct statement about two circles whose equations are given below :
x2 4 yz 10x— 10y +41=0

x2 4 yz 22x - 10y +137=0

Options :

86435115087, Circles have two meeling points

26435115088, circles have no meeting point

86435115089, circles have only one meeting point

86435115090. circles have same cenlre

Question Number : 75 Question Id : 8643515025 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

€ Ja97, faat et AHiaas’ I8 fad wignd I8 .
x2+y?—10x— 10y +41=0

x2+y?—22x— 10y + 137 =0 fe5" 979 At F8s I< :
Options :

36435115087, S0 30 © WEEHF I5 |

86435115088, 900 A8 Il fHETE fog &1 J |

86435115089, Jad 9% Jd2% f9d ftHEs He <J |

o e
86435115090, S09 © =9 I AHE J |

Question Number : 76 Question Id : 8643515026 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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For the four circles M, N, O and P, following four equations are given :

Circle M : x> +y*=1

Circle N : 22+ y?>—2x=0

Circle O : x2+y?—2x—2y+1=0

Circle P : x2+y?>—2y=0

If the centre of circle M is joined with centre of the circle N, further centre of circle N is joined

with centre of the circle O, centre of circle O is joined with the centre of circle P and lastly,
centre of circle P is joined with centre of circle M, then these lines form the sides of a :

Options :

86435115001, Rectangle

86435115092, Rhombus

86435115003, duare

86435115094, | arallelogram

Question Number : 76 Question Id : 8643515026 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
979 999" M, N, O w3 P, faas™ S AHlads” I8 -

999 M : 22 +y?=1
9T N : 2+ 2 —2x=0
999 O : x2+y2-2x-2y+1=0

ElE'HF:xzryz 2y=0

Had 999 M € d2d § 999 N € ded 5'8 HETenT fgmm J, »d 999 N € ded 8 949 O © =9
&% fHETew famim J, 999 O © 9= & 940 P € d2a &8 HaTen famm J »3 nmdls f&9 J9a9
P £ dE3 § 998 M € ded 3% fHares famim 7, 32 fog qure fam fow gamat Jfam .
Options :

86435115091, E

86435115092. A
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86435115093, =90
86435115094, 1 59 I3T9H

Question Number : 77 Question Id : 8643515027 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of integral values of m so that the abscissa of point of intersection of lines
3x+4y=9 and y=mx +1 is also an integer, is :

Options :

86435115095, Y

86435115096.

I3

86435115097.

86435115098,

Question Number : 77 Question Id : 8643515027 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T 3x+4y=9 wiT y=mx+1 € g2 fig ¥ 7 G Y35 »id T 3¢ m ¥ YIs wid Hy' &

d <3 n—_f :
Options :
86435115095.

86435115096.

=]

86435115097.

86435115098, 3

Question Number : 78 Question Id : 8643515028 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The equation of one of the straight lines which passes through the point (1, 3) and makes an

angle tan 1 (y2) with the straight line, y + 1= 3./2 ¥ ig -
Options :
86435115099, 42 x +5y — (15 +442) =0

86435115100. 42x -5y - (5+442) =0

86435115101. 5v2x +4y — (15 + 44/2) =0

86435115102, W2 X +5y 442 =0

Question Number : 78 Question Id : 8643515028 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
frdtnit Suret & fa fig (1, 3) 5 Sweh® J5 w3 T S y +1=3V2 x 5 tan1(J2) &=

J= g o 5 29 g & mitags I :
Options :

e |
86435115009 N2 x +5y — (15+42) =0

42 x

86435115100. 5y — (5+442) =0

86435115101. 5v2x +4y — (15 + 442) =0

86435115102, W2 X +57 442 =0

Question Number : 79 Question Id : 8643515029 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The solutions of the equation

1 + sf_nzx sf_nzx smzx

y. y.
cos’x 1 + cosZx cos“x|=0,(0<x <), are :

4 sin2x 4sin2y 1+ 4sin2xy
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Options :
T b
86435115103, 6 6
57 V7

86435115104, 12 1

86435115105,

86435115106.

Question Number : 79 Question Id : 8643515029 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o ol o oo O
1+ sin“x SN x SN x

FHIag= cosZx 1+ cos®x cosZ x| = 0,(0<x<7) YIS T :

4 sin2y 4s5in2x 1+ 4 sin2y
Options :

m S5
86435115103. 6 6

5r 77

86435115104, 12 1

86435115105,

12
86435115106. ~~

Question Number : 80 Question Id : 8643515030 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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ﬁ
A vector a has components 3p and 1 with respect to a rectangular cartesian system. This

system is rotated through a certain angle about the origin in the counter clockwise sense. If,
- ﬁ { -
with respect to new system, a has components p+1 and /10, then a value of p is

equal to:
Options :
86435115107, 1

86435115108, 1
4
86435115109. 2

5
86435115110, %

Question Number : 80 Question Id : 8643515030 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Wi araetHG Y=t T §THE 3aeg 4 © Wed dp w3 1 T6 | oW yTeht § i fawtas

- & e = - = - - . o SN Y
dT I HE 3 @ W & G8c fowr fEg wHfenr fam™ I | 759 521 y=8t €1 993 a T UT
p+1w%3 J10 9%, 3¢ p ST T :

Options :
86435115107, 1

86435115108, 1

4
86435115109. 5

e |

86435115110.

Mathematics Section B
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Section Id : 864351336
Section Number : 6

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351336
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 8643515031 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let z;, z, be the roots of the equation 2 +az+12=0 and Z1, 2> form an equilateral triangle

with origin. Then, the value of a|is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 81 Question Id : 8643515031 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

H& B8 2, z, AHEEE 2 +az +12=0 ¥ U8 T& »3 z,, z, HE &8 AHTY 330 9582 T5 | 3
Y R:r SRR &
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643515032 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Let f(x) and g(x) be two functions satisfying f (x2) g4 —x) =4x” and g2(4—x)+g(x)=0, then

4

the value of I._f{xzjdx 7
—4

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643515032 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

HE 35 © 255 f(x) #3 g(x) AHIFTE f(x%) +g(4—x)=4x> »3 g4 —x)+g(x)=0 ?5 H3He J3¢

4
T de [fexTEs__ 3
-4

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643515033 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
. 3 ~. 0 ;
5z +7x y
If f(x)= _[ : 2 — dx, (x = 0), f(0)=0and f(1)= i then the value of K is
(x2 +1+2x7) K

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 83 Question Id : 8643515033 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

528 + 7x® .

— dx, (x = 0), f(0)=0 %3 f(1) = % FTKTHS
7)" ' .

T3 f(x) = |
(x2 +1 +2x

ol
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643515034 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A square ABCD has all its vertices on the curve xzyz =1. The midpoin’r_e of its sides also lie on

the same curve. Then, the square of area of ABCD is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643515034 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

&g =991 ABCD € A9 fAud 2391242 =1 Sua 95 | fEr four game™ © vy fig &t for <39 Gua

NIE IWABCDRYIIeS T Egar T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643515035 Question Type : SA
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Correct Marks : 4 Wrong Marks : 0
Let the plane ax+ by +cz+ d =0 bisect the line joining the points (4, —3, 1) and (2, 3, —5) at
the right angles. If a, b, ¢, d are integers, then the minimum value of {a3 b2+ 2 4 dzj is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643515035 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

H& 88 3B ax+by +cz+d=0 Iy, 7 &t fen @, —3,1) w3 (2,3, -5 e g v==t 4, &
HHIS 3 AHEIWA J | #dd a, b, ¢, d Y3a »id IT, 32 (a+ b2+ 2 +d?) = 66530 Us
d |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643515036 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The equation of the planes parallel to the plane x — 2y + 2z~ 3 =0 which are at unit distance
from the point (1, 2, 3)isax+by + cz+d =0. If (b —d)=K(c—a), then the positive value of K

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643515036 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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3B x-2y+2z-3=0 T AHTIT w3 fHE (1,2, 3

i
od;
o]
Ei

urt)
aj,
N
o)
%,
4
)
&
2
it

ax+by+cz+d=0J | #a3 (b—d)=K(c—a) 3¥ K T UE3HI

%:jl!
]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643515037 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The mean age of 25 teachers in a school is 40 years. A teacher retires at the age of 60 years
and a new teacher is appointed in his place. If the mean age of the teachers in this school
now is 39 years, then the age (in years) of the newly appointed teacher is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643515037 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

fea Has &9 25 wifmimua’ € BHT & HOW™® 40 A8 J | ffd »iftnimud 60 AraT &1 BHI 3 A=

Ha2 g2 J w3 Gret 9491 fog 32 wiftmimug fawaz &3 afer 3 | 399 I o0 AgE 2 wiftmmudr
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Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643515038 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

88/91



3/18/2021

The number of times the digit 3 will be written when listing the integers from 1 to 1000 is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643515038 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643515039 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The missing value in the following figure is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 89 Question Id : 8643515039 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643515040 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of solutions of the equation |coty| = cotx + —— in the interval [0, 27] is
Sinx

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643515040 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

I EGL:) [0, 2] @9 HHIF3E |cotx | = cotx + v % o fared] o ol

siny
Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100
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